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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according

to the detailed instructions given therein.

Candidates should limit their answers to the

questions on the given answer sheet. No

additional (B) answer sheet will be issued.

uksV :µ ;g iz'u&i= lÙkj (70) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA
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Section–A

([k.M–d)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any two (02)

questions only.

uksV :µ [k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, mUuhl (19) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. Why do people migrate ? Discuss various factors

giving Indian examples ?

yksx iyk;u D;ksa djrs gSa \ Hkkjrh; mnkgj.k nsrs gq, fofHkUu

dkjdksa ij ppkZ dhft,A

2. At which rate is the farm land is being diverted to

non-agricultural uses each year in India ?

Hkkjr esa izfro"kZ fdl nj ls Ïf"k Hkwfe dks xSj&Ïf"k dk;ks± esa cnyk

tk jgk gS \



A–1251/GE (N)-102 ( 3 ) P.T.O.

3. Which types of industries can be best developed in

Uttarakhand and how ?

mÙkjk[k.M esa fdl izdkj ds m|ksxksa dk loksZÙke fodkl fd;k tk

ldrk gS vkSj dSls \

4. Explain the significance of ecotourism in India.

Hkkjr esa bdksVwfjTe ds egRo dks le>kb,A

5. Discuss in the detail the characteristics of Indian land

and water frontiers.

Hkkjrh; LFky ,oa ty lhekvksa dh fo'ks"krkvksa ij foLrkj ls ppkZ

dhft,A

Section–B

([k.M–[k)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

uksV :µ [k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, vkB (08) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks buesa

ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA
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1. Why is Agriculture called ‘backbone of Indian

economy’ ?

Ïf"k dks ^Hkkjrh; vFkZO;oLFkk dh jh<+* D;ksa dgk tkrk gS \

2. What do you mean by Transport Planning ?

ifjogu ;kstuk ls vki D;k le>rs gSa \

3. What is meant by Trade ?

O;kikj ls D;k rkRi;Z gS \

4. Elaborate the orogeny of Himalayas.

fgeky; dh ioZr&jpuk dk foLrkjiwoZd o.kZu dhft,A

5. Discuss the Indus River and its tributaries.

fla/kq unh vkSj mldh lgk;d ufn;ksa ij ppkZ dhft,A

6. What do you mean by laterite soils ?

ySVsjkbV feV~Vh ls vki D;k le>rs gSa \

7. What is the significance of forests ?

ouksa dk D;k egRo gS \

8. Write a short note on solar energy.

lkSj ÅtkZ ij ,d laf{kIr fVIi.kh fyf[k,A

**************


